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OMNTERIZ 3,503,500& * 17¥ 59,560
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N = 0] &b Af =
HE 204a e € HEAXNJAN ~ EE R A=FD
S8 0AX XY
TLY LES FE AR P
AlQIOHS QISR AHIA 28 (el @2)
L3
M- B8 a(3) - HEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
& X & 1,590,734 581,729 1,009,005
= 50,265
Al 1,540,469
22 FT= A = 78,639 85,112 AN6,473
= 50,265
Al 28,374
DIOHE DIKASHA™ AHIA RS 28,374 27,454 920
MESH QIRA 2 6,223 6,303 A 80
201 2yt 2 Y| 6,223 2,803 3,420
01 AP 2t 2] H| 6,223 2,803 3,420
Ol Al =AH A 5,567
o0l dA& XM (st Y =)
4,000,000& 95% 3,800
O&F %I Axt
37,500 * 204 ~ 12&€ 95% 855
O2J|1&8&D| dx=2
40,000 * 204 ~ 12&€ 95% 912
O&sHAHE )| KXl 656
OHE = 200l EH|
50,000 * 104 * 12&€ 95% 570
[@F25>DN| 30,000& * 34 95% 86
2H0tE Ol X el 22,151 21,151 1,000
201 LEr2 Y| 21,551 20,551 1,000
01 AR 22l ] 19,943 18,943 1,000
OolFAPRFA 9,928
O=2AEX 21,0008 = 102tA « 128 95% 2,394
oozezaEX 80,000& * 10B8FA 95% 760
OF0sE Sx2 2X
28,000 * 10B8FA 95% 266
oclztieldtzs SEM RO
90,000& * 18+A 95% 86
OZ2He &4 220,000 = 20H ~ 63 95% 2,508
O=Z2AMI EH4 260,0008& = 20 ~ 63 95% 2,964
OHA B4 70,000 = 2CH * 43 95% 532
oersd o 22,000 * 2CH = 1004 95% 418
Ol 2,167
Ofcloigr=22 X 54,0008 » 88FA 95% 411
OoIaAY2IIEYH 330,000& = 404 95% 1,254
OHEH 132,000 « 4Nl E 95% 502
OEgoaaeIZ0]| 5,518
OZ27| E14 330,000 4= * 43| 95% 5,016
OHAEHN 132,000 * 4MIE 95% 502
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fN: B UIAXE
B AL YES Fo UAYY 7
Chel: A5tn BEE IEANSE 29 CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OEHX S AMRES(ZUY) 57,000& 57
= 57
OZHX S ANREE(S4H) 9,000& 9
= 9
detst DEFE NEAMH A S 1,413,587 405,072 1,008,515
SEE EXNEIY BESH A £ &= 82,938 84,848 21,910
&5t OHE ZAIXIDE Z AL 78,035 79,945 21,910
01 QI24Hl 20,884 22,794 21,910
04 JI12ZtHZ22EE = 20,884 22,794 21,910
OMEZSAXNIER JIZ2ZtHZ 2R 12 18,836
ooeY 69,760& * 3¥ » 90 18,836
c4liE2" 23 2,048
O=8d3 18,836,000& * 4.5% 848
(OFaRzg=g= 18,836,000& * 3.335% 629
OFIILAEH 629,000& * 10.25% 65
CnE:LH 18,836,000& * 1.65% 31
Ot THEH 18,836,000& * 1.03% 195
201 LBt2d| 57,151 57,151 0
01 At 2t 2l 40,351 40,351 0
OXINEAR, MEEN, EXNSHEIAME
55,0003 = 302FA = 95% 1,568
OMNE S AR SESX2 M= 6,384
O1g 1€ JI1&
1403 * 46,0004 * 13| » 95% 6,118
O78 1€ JI&
1402 * 2,000 * 13 * 95% 266
OMESAXIt XotatEH S ESH ME 24,225
O1g 1¢ JI&
17,0002 * 40000 = 23| * 95% 12,920
O7€ 1€ JI&
17,0002 » 35000 » 23| * 95% 11,305
OQMESAXIN EE 3,443
Og+=9 70,0003 = 124 = 43| = 95% 3,192
oYzt 33,0003 * 24 = 43| = 95% 251
OZAAHEHE =H H|
10,0003 = 300& = 95% 2,850
O&&E A BH2IH 6,000& = 5000 = 95% 285
OZHEU 220,000& = 404 = 95% 836
OST S 28H(A0) 20,0003 = 4000 = 95% 760
02 =24l 16,800 16,800 0
oORURS 16,800
O1g 1¢ JI1& 350% * 46,0002 * 13 16,100
O78 1¢ JI& 350& * 2,000 = 13l 700




SN BHT UAXED
Hu: gas DEI UHAUA W2
S9l: BFS EXNTIIS RSN AT SS B CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
234 HHEAN &S 4,903 4,903 0
201 £B-2d| 903 903 0
01 At 22l 903 903 0
OFRSLAHAHMDIN RO
2,000& * 28 * 753 = 95% 285
OSRSH QMDA R0l
2,000& * 58 * 30& » 95% 285
OEXHHAAG I MEBN RO
2,000& * 38 * 15& ~ 95% 86
OEXHHAH LSOt St 2 M=
130& * 2,0008 = 95% 247
301 LeBAF 4,000 4,000 0
12 J|EtE& = 4,000 4,000 0
O=2Y SMHIA Al ZaZ 500,0008 » 1A 500
OFSA&NHIHA A D o=
7,500,000& = 20% 1,500
OEXHHAHASG I | EX A1) ZAF
500,000& * 4A 2,000
datst NHFE M3 77,772 68,351 9,421
NE=g R0 68,554 68,351 203
101 @14 Hl 11,601 11,398 203
04 DIt Z2XRHEE S 11,601 11,398 203
OXNFHZHINEZLHMEZA JIZH2 2R 12 10,464
Oy 69,7603 * 1H = 150 10,464
o4UE" RE=3 1,137
O=ggd= 10,464,0008 * 4.5% 471
(OFaR=gg= 10,464,000& * 3.335% 349
OEIQASH 349,000& * 10.25% 36
(ONE=1-0= 10,464,000& * 1.65% 173
OMTHEH 10,464,000& * 1.03% 108
201 et 56,953 56,953 0
01 At 22l 56,953 56,953 0
OXNEIIES M7 ARUY 2482
140,000 » 400& * 95% 53,200
OXHOE NHAH R
10,000& = 58 * 20& * 95% 950
OEXNOsZ2AAM H2IH P&
10,000& * 5000 = 95% 475
OXNHB=SEZ T Hield F
40,0002 * 3090 * 95% 1,140
ONNMSZAD ASHl 2Y SBANKIE
5002 * 500& = 95% 238
OXNHEE €=58A 7Y
25,0003 * 402FA * 95% 950




A EEF AKX A D
Hu: gas DEI UHAUA W2
el MEE NHES M2 CEEEED
(o
SA BB (SH) - NRAY - B Ol At o %@i HRE2
ESMARAFNEED EEXXNE 29 9,218 0 9,218
201 gBt24d| 9,218 0 9,218
01 AP 22| H| 6,593 0 6,593
o8 ot 70,000 * 12JH = 95% 798
O=EEEE 5,000& = 1,00000H * 95% 4,750
O AH A 10,000& = 11= ~ 102 * 95% 1,045
02 2=2=24%4| 2,625 0 2,625
ORT= 2,625
oYt 350& * 500 175
OEDI 2,450& * 1,000= 2,450
HEs EX 2 HES {8 D8t 2= 1,252,877 251,873 1,001,004
NETHEZA L HAHSKH HEAS 1,252,877 249,213 1,003,664
201 2Et24Ay| 52,877 35,535 17,342
01 AP 22| d| 52,277 34,935 17,342
OXNEEMZAI D=3 & L =2 =42
90,000 * 300& * 95% 25,650
OKXNZEEA AFEX P HEE &Y
60,000& = 40& * 95% 2,280
OXEMEA AFEX 2 &EH &4
150,000 = 4Kl ¢ * 95% 570
ONEMEA MLX P HEE U #29 Xy
105,000 = 3OH K2 * 43| * 95% 1,197
OXNEMEA SXE RESE H &
250 « 8,000& * 95% 1,900
OXNEMEA AIEXF EE2Z2 ME
5,0002 * 600JH * 95% 2,850
OGNSS = D|J| s Al HI=
400,000& = 1J0 * 95% 380
ONMTHEAAMY V5| BHase
100,0008 * 8% * 43| 3,200
OXHMWEAN 2HHI222
50,000 = 150 X| = 2JH2J| & = 95% 14,250
02 Z2=2=2494| 600 600 0
ORIEd=&&Hl OlE Sald]
20,000& = 12&€ 240
OXEEAI HIEE 2 HY SAlH]
30,0008 = 12&€ 360
301 et A =2 1,200,000 200,000 1,000,000
12 JIEtE2 A= 1,200,000 200,000 1,000,000
OKXNEMMEA ZEZ2(AMZ=2XF)
250,000& * 3,200n 800,000
OKXNEMEA ZEZS(SE2XF)
400,000,000 400,000
HHSHAY(EY P IKFXHD) 98,508 91,545 6,963




2N

FS RS LS =] g3 oA
& 123l fEH)
A - HE B9 (3A) - HRAY - BHYS il 2
=& Hl 98,508 91,545 6,963
=3l 98,508 91,545 6,963
201 Let24d] 58,588 55,242 3,346
01 At 22/l 26,248 26,502 A 254
OJlege=adZl 500,000& = 23H = 90% 10,350
OJIEZHl(S&l)
8,000& » 23 = 8 x 12& » 90% 15,898
02 =224l 32,340 28,740 3,600
oORUR= 32,340
Og gt 350& * 700 2,940
O&2l 2,450% = 1,000 29,400
202 odl 33,120 32,103 1,017
01 = LH 4 bl 33,120 32,103 1,017
OJI&Z 20,0003 = 23Y% * 6 33,120
203 B R =&l 4,200 4,200 0
04 FENSEHR=LH 4,200 4,200 0
©J| & X (25021 015t) 4,200
405 TtobFH S| 2,600 0 2,600
01 AL ESFHSHI 2,600 0 2,600
(OESuE- 1,300,000& = 2CH 2,600




=
Q
2

A

>
20218 =0lah LA SS9 HFXNFW ~ S AFY
SN EHT FOU=XD
HE: HONE L FoU=X B
Sl Fojel BOAMB ¥ =2XNEH (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
s F0=2X D 4,682,859 4,924,362 241,503
FANS L FOHA=EX B 49,801 43,601 6,200
Zoe HAMS & =NSsA 25,401 25,401 0
ZoHe =X E2 12,401 12,401 0
201 L2l 12,401 12,401 0
01 At 22l 11,401 11,401 0
(OFSEV R RSE=E DN R PN E DN
1,100& = 2,50000 * 95% 2,613
OFMWANBFXTY FHEX 2HE SHB
50& * 4,00000 = 95% 190
OZOHQ ARBR AAl oI
200& = 5,00008 » 95% 950
OHMHATMEFIAH ES 7,648
OBSZe 228 4%
70,0003 = 6500 = 95% 4,323
OsE8 ¢AUE 100& * 15,00000 = 95% 1,425
OHMYUEEFIFS 2203 AEFH 2
40,000 * 5081 * 95% 1,900
02 222 1,000 1,000 0
OUE M0 =& 50,000& = 20CH 1,000
Z0iots =FAH=Z 2F 10,000 10,000 0
307 21201 A 10,000 10,000 0
TEEY EEE: 10,000 10,000 0
OZlols == 2F 10,000,000& * 13l 10,000
SSHMHLY AaUS0 29 3,000 3,000 0
307 gl2tol & 3,000 3,000 0
11T AIS S XAEE = 3,000 3,000 0
SSTMLY MaUsol 23
3,000,000& = 13l 3,000
O =X Jlgtx= 4 15,000 13,200 1,800
THOtEOHe! Maetd X 15,000 13,200 1,800
301 LA F 15,000 13,200 1,800
01 AR 2Z A5 3 15,000 13,200 1,800
ORFHM HESESHl X
150,000& * 21 » 42 DI 12,600
O1=Z0e wsH XI&
40,000 = 159 = 42| 2,400
HeA X & =0l ze| 9,400 5,000 4,400
HeA AL A & =0l 2el 9,400 5,000 4,400
307 glz2+ol & 9,400 5,000 4,400




fN: BEHR F |
HE: HONE L FoU=X B
Sl #AR L kol e (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 sd =t 9,400 5,000 4,400
oA AL X & H ] 1,000,000 = 432 4,000
O P otAal oFX|H| 60,000& * 452 = 10L& 2,400
OHAMEX B20E 600,000 = 432 2,400
OL=90 HHItH | 10,000& » 5 » 12& 600
A2otD EJ|& - SMHE PBA 1,054,599 1,172,369 AT117,770
L OISO 562,975 611,775 A48 ,800
e X 326,400 398,400 AT72,000
301 et M= 326,400 398,400 AT72,000
01 Al B & A 262 326,400 398,400 AT72,000
OXx=x= XA 40,0008 * 680Y * 128 326,400
2&29 & 12,000 12,000 0
301 et M= 12,000 12,000 0]
01 Al E& A %52 12,000 12,000 0
ogt4+4 XA 50,000& = 20 * 12& 12,000
ENLQ EXNSN 60,000 60,000 0
301 et A =2 60,000 60,000 0
01 Al E & A 462 60,000 60,000 0
O=SHL2 AA52 K&
500 * 500 * 20 = 128 60,000
LomMpnaed 164,575 141,375 23,200
307 212t0| & 164,575 141,375 23,200
11 A EXAIEEX 164,575 141,375 23,200
OEEANLIHUE &4H9 23,200,000 23,200
o2sols 24 30,595,000 30,595
o=srxs24U4sE 29 32,625,000 32,625
OHIOIQLEZLQE 24 43,500,000 43,500
OsZEEFZELoUHs 29 34,655,000& 34,655
Hotgt) MESH oI EXNAE H=2 491,624 560,594 A 68,970
d2e AF HES 355,445 349,909 5,536
401 AlEHIZL 201 Y| 109,251 117,400 A8, 149
01 Al&H| 109,251 117,400 A8, 149
ONASIZEY WES 57,000,000 57,000
OSHNEE SHA2Y N2 (TH, T
2,300,000 = 10 A 2,300
OSU2E HAFRY NS (H2EX, 22
Hl) 11,696,000 = 1JH A&~ 11,696
OE2l2s HIZY WS (280, =420
Al 1,694,000 * 12 1,694
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A EEFR FUEX L
Hu: AYSD BIIE LEME B
CHRl: EOotolD ESH Lol EXNAIE M2 (2 &HH)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
O=2HNH QAQRIHER2Y HE S (S, & EH
1,237,000& * 100 A 1,237
O=SAMH ZA22I(P)IF2YE NWES (AL
3,600,000& = 10 A 3,600
O=24tH QAH22|HZ2Y HES(AIAW)
4,150,000 * 1002 4,150
O=24H SlsSeHAR2Y HE=(AIAM)
3,360,000& = 10 A 3,360
OsadE IAN(SE)ERY HES (A,
T M) 4,330,000& * 1JH 2 4,330
OE2Uis FXNEURUEIIAEZY ME(
Sy, AR 4,312,000 = 1J0 A&~ 4,312
O2Ui1s HWAZDIEAZ2Y HE=(SHH, &)
3,135,000& = 1A 3,135
O=2U2s YUZ2E MWES=(AIAW,&2H)
4,076,000 * 1002 4,076
O2U2s MUAHZY HES(ZHH)
979,000& * 1A 979
OJlEs E41XMAERE MEX=(ZHH)
2,184,000& = 1A 2,184
OZEHE ANWEARRL HE4(43H)
1,859,000& * 10 A 1,859
OEH2EEE SHAMUHAEZ2Y HE (S, &
o) 2,050,000& * 1JHA 2,050
OLMIE HARAZY N4 (2L Saws
s) 10,000,000& = 1JH 2~ 10,000
OLANIE ZHN2EZ2Y MHES(ELH ,SHEA
22l) 9,697,000& * 1JHA 9,697
OLANIES DEHAZY HES(SHEA  FRIEIY)
7,889,000 * 1JHA 7,889
OLANIES HEAZZY HES(AIAM)
1,427 ,000& *~ 100 A 1,427
OLMIES =9 Z2Y WES(EM 2 H)
4,686,000 * 1002 4,686
OLANI= Hiotad2XAE2Y MHE (=0, &
o) 1,999,000 * 1 1,999
OLANIES SUHIZ2Y MW= (, THH)
4,100,000 * 1002 4,100
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01 A& HI 2,111,654 2,213,753 A 102,099




A EHT ALD
E: NARALBAS TAIIUES
el Ezzel (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Oz I E2ANHEE SANES 1,925,000
O0AZE AIIE+ 300,000, 000& 300,000
OXte &M 50,000,000& 50,000
OEEZAHAA RANE+ 50,000,000& 50,000
OL2ZANEE RSB+ 100,000, 000& 100,000
OEZANE 28K XNES 900,000,000 900,000
Os=2ZANE 2essNEs 250,000, 000& 250,000
O0E0EESTA AMEE X2
100,000, 000& 100,000
O T2H )| 150,000, 000& 150,000
OE2Z tUHEXE FHIAY
2,500,000& = 1000 2 25,000
oueZ g T ZHHl S AHL=780m)
60,000,000& 60,000
O ZFHIALY A AIE A
1,985,000,000& * 3.71% 73,644
OANE ¥ SHEZZ S UINSEX E&3 53,010
OEX 0l 50,000,000& 50,000
OA& =2 3,010
22
200,000& = 201 Jl& = 22X 800
—EEEErTR 372,000& = 5 X 1,860
-SJ0ldxr2 70,000& = 5Z X 350
03 A& 2 THHI 7,146 7,542 A 396
OTZ2HEl & RANESAY AIE20HI
1,985,000,000& * 0.36% 7,146
405 XHoHF S HI 3,150 0 3,150
01 AL ESFH S 3,150 0 3,150
ODNHEC) 200,000& =« 1CH 200
OsdA #HEE 300,000& = 1CH 300
OAN&E 550,000& =« 1CH 550
oL dFII 500,000& * 1CH 500
o3zHH 800,000& =« 2CH 1,600
FU=RALY 523,372 705,080 A 181,708
401 Al HI K 201 I 523,372 705,080 A 181,708
01 A& HI 520,680 701,300 A 180,620
odlgz 11 A2 S =2FHUIZAH(L=170m)
34,000,000 34,000
OFa=z92d LA T ZHH| 3 AH(L=400m)
48,000,000 48,000
OXXHZ693H 2 OtA 2 M 2D 3 AH(L=220m)
25,000,000 25,000
OHs 177-18 X w& =HA I3 AH(B=2.0m)
35,000,000& 35,000




g9 A&
TRy EAs TADIBES
Szl o M)
SN HH-S(BN) - MBAY - B il HlnE2
O"s 27048 X LA =2 HHI S AH(L=200m)
22,000,000& 22,000
OMHNS 227TH X ==ZF 4|2 AH(L=80m)
50,000,000& 50,000
=9/ E 482X L@ == FHI S AHL=300m)
50,000,000& 50,000
O&s~s82 OtAZX M 2|3 AH(L=1,500m)
110,000, 000& 110,000
OALTE FUSIAAY(SEY) 130,000, 000& 130,000
OFRU=SJAAY AAIEAH 16,680, 000& 16,680
03 Al =20 HI 2,692 3,780 21,088
OFLU=HANS AILI2UH 2,692,000 2,692
ne @ AlIE2 s 767,761 608,725 159,036
201 L2l 172,041 117,015 55,026
01 At 22l 15,641 855 14,786
OZYAMONRAS oA MASY
30,000& = 5% = 63| = 95% 855
OFEI|ItM ALY =22 14,786
O = Xl of Xt & (864kW)
830,000& = 12& = 95% 9,462
O 25 Xl o XH & (68kW)
137,000& = 128 * 95% 1,562
O30l 2 Z2l A X oFxF&E (412kW)
330,000 * 123 » 95% 3,762
02 8323l 156,400 116,160 40,240
OCCTVald L Saald AIEZE 18,600
OXlgtxtE & B sS4
1,000,000& = 12& 12,000
Os1 &) sz 550,000& * 123 6,600
(OFSPIR=E=, 97,800
OXIGHXtSE 400 2 5,500,000& = 12& 66,000
OSD 52 (2N 5 2%, 85 21)
1,400,000 * 12& 16,800
O&&, ¢ ti+=812% 500,000& * 128 6,000
Oung 22X (Usw, st=s0iw, 0lsdw
Sakw) 750,000& = 123 9,000
O&ZJ A2l 40,000
Os2I 8d ==+2(¢ 13)
160,000& » 1004 & 1,600
052l 2822 L RNELBY 248
220,000& = 10CH » 12& 26,400
0&2I BABY 448
100,000& = 10CH = 12& 12,000
401 Al Bl 28I 595,720 491,710 104,010
01 A& HI 592,840 488,290 104,550




SH: EYT ALY
M XNEFELYNRAS TAIDIBEXS
el S 222 ct
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
OWg UXMAZA(QMA, 2L, astED]) 150,000
O(A)EHD S A HUBARS
150,000,000 150,000
OA2WE L JEIAIEE EI|NMEA
25,000,000 25,000
OuY L AIE2 SANEx 417,840
Ouwg Y ANd=S RAE44H 300,000,000 300,000
OL=AAdIE WE Ald 22 AH(L=12m, B=6m)
100,000,000 100,000
OuE Y ANEdE RAES AAE A
400,000,000 = 4.46% 17,840
03 Al 20| 2,880 3,420 A B40
oy L ANEE SAEL AIEAE20H]
400,000,000 * 0.72% 2,880
EUR HAzD 0l&8AY 120,000 0 120,000
401 AlEHIZL £ 0HY| 120,000 0 120,000
01 Al&H| 120,000 0 120,000
OEEY R HMAEzD ZEAMY 120,000
O& Al &E A I 120,000,000 120,000
H Mol Hzs 8 732,720 989,874 A 257,154
TH RHGH Off & 77,800 69, 300 8,500
THEE 2 THoH 22l 77,800 69, 300 8,500
201 et 9| 54,800 54,300 500
01 AFR 2t 2| bl 200 200 0
oMt 82 &8 70,0008 * 33 * 95% 200
02 Z2=2=24%4| 54,600 54,100 500
OMAEZH 282 (EaH 2d0IdH)
200,000 = 69CH 13,800
OEH K4 100,000 = 69CH * 33l 20,700
O M & Zdl £=2lbl 15,000,000 15,000
ON&E &Y |F4l
1,275& = 20L ~ 10CH = 203 5,100
206 M = H| 5,000 5,000 0
01 X2 H| 5,000 5,000 0
OMl=2 XANM(EON & 98)
5,000,000& 5,000
401 AlEHI 2L 201 Y| 18,000 10,000 8,000
01 A& H| 18,000 10,000 8,000
OMUAE XA oHH 18,000
Otl+=82 & KX 224
3,000,000 = 6IH A 18,000
SIEAIE A 654,920 920,574 A\ 265,654
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
ot Hdl % ®X 2l 381,036 378,838 2,198
201 £B-2d| 26,576 25,448 1,128
01 At 22l 22,610 21,470 1,140
Osotd =4 2 =2 FHl FH X2 11,305
O=4tJ| 600,000& = 2CH = 7 = 95% 7,980
Og=Zxt 500,000& = 1CH = 7 = 95% 3,325
Odtd HFXNE & Xz
950,000& = 1CH = 12& = 95% 10,830
Odtd W =2HEE =X dUHEXE
100,000& = 5JH A * 95% 475
02 =224l 3,966 3,978 A12
oxg |SFl 1,3773& = 12L » 240 3,966
401 AIEHI L 20 354,460 353,390 1,070
01 A& Bl 352,012 351,518 494
Ootd KA 2cl ALY 260,000, 000& 260,000
Odtd EHIJ ¥ ==SHAHAE 60,000,000 60,000
Ootd 2AefFaialE: HHA 20,000,000& 20,000
OdtdEHl ¥ SR 2cIAt AAEAH|
260,000,000& * 4.62% 12,012
03 AlE 2 THHI 2,448 1,872 576
Ootd | Z2lAt AIZ S0
340,000,000& * 0.72% 2,448
Aot FHIALY 273,884 541,736 A 267,852
401 AIEHI L 2CHEI 273,884 541,736 N 267,852
01 A& Hl 272,012 538,460 A 266,448
OActd SR ZelAtY 80,000,000& 80,000
OJtetAGHE HHIZ3AH(L=130m, H=2.0m)
80,000,000& 80,000
Osg A6t HHIZBAH(L=160m, H=2.5m)
100,000, 000& 100,000
OAoHA SA2lALS & AIE A I
260,000,000& * 4.62% 12,012
03 A& S THHI 1,872 3,276 A 1,404
OA0tA FHIAMY AIZ=20dI
260,000,000& * 0.72% 1,872
ot =2tel 305,738 671,278 A 365,540
otz % Xlot= Es2el 305,738 671,278 A 365,540
Aot A= 2el 40,938 67,498 A 26,560
201 £B-2dH| 8,938 7,498 1,440
01 At 22/l 3,658 3,658 0
OXdts =2ZFL AlZ Mg 7
2,500& = 10000 = 95% 238




SN EHT AED
Hu: stae
Sl Gl ¥ Xlotx Es2e CEERED)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
Obtf=2 He X S (E3FH)
3,000,000& * 95% 2,850
O&AAHZZ IS (EST)Y U0l E
600,000& = 1JH = 95% 570
02 E2=2=2%H| 5,280 3,840 1,440
OXdlse BX2A= SMR3
10,000€¢ = 3204 = 12&€ 3,840
OAFHZAILE HIR2S
10,000€ = 12004 = 12&€ 1,440
401 AlEHIZL L2 0HY| 32,000 60,000 A 28,000
01 Al&H| 32,000 60,000 A 28,000
OXlot4 EXx2=a HI|IHH
500,000& = 320 = 23] 32,000
BH=AlE &EH & KX 264,800 603,780 A 338,980
401 AlEHIZL 201 Y| 264,800 603,780 A 338,980
01 Al&H| 263,000 600,000 A 337,000
O0tssote=T &Hl & KA22 210,000,000 210,000
OY =S 253-4931 X &< MAE Y| ALY (L=200m
) 40,000, 000& 40,000
Ot Ald JHIAFYE & A& A HI
250,000,000 = 5.20% 13,000
03 AlE 21| 1,800 3,780 A 1,980
Oti=Ald dHl ¥ SX22 AIZ20U]
250,000,000& * 0.72% 1,800
HHSHAAL(EER AL 351,179 363,082 A 11,903
ol 2 A | 279,368 285,586 NG6,218
oI d| 279,368 285,586 NG,218
101 e1214| 279,368 285,586 N6,218
03 2IAHALZZXHE = 279,368 285,586 NG,218
o244 271,868
odE(a2) 171,527
-29¢ X} 3,652,920 * 1H = 128 43,836
-154 Xt 2,925,850& * 1H = 12& 35,111
—-12& X} 2,758,150& = 1¥ = 128 33,098
-84 Xt 2,534,410€ ~ 1H « 12&€ 30,413
64 Xt 2,422,370 * 1¥9 = 128 29,069
o= 62,979
SbELE 8,400
- B L X+ 40,0008 * 4% « 128 1,920
- EHlE 20,000& x 5 x 12& 1,200
- W 20,000& = 3¥ » 128 720
=M 60,000& = 3% » 12& 2,160




SH: 2SR ALY
HH: BHSYAU (BT ALY
chel: ol gyl CEEEED
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
< AUTH 100,000& * 29 x 128 2,400
—HEE G 100,000& * 198 = 12& 1,200
(W24
20,001& = 59 = 10AI2t = 12& 12,001
—opRR Ay
26,6682 * 58 x 10AI2t = 12& 16,001
-5dI2R>H
20,0013 = 598 = 10AI2t = 12& 12,001
==y 50,000& =~ 5% * 12& 3,000
-FEY 30,000& + 59 « 12& 1,800
255G 142,932& x 59 x 12& 8,576
[Or=2=1:l 140,000& + 59 « 12& 8,400
[@F~ N/ PAFe: b= 800,000& * 59 4,000
O IE AtY| 106,672 = 5% x 20! 10,668
OY & syl 1,429,366 * 5% * 23] 14,294
OR A& X Xz bl 500,000& * 59 2,500
oxz2Z+3d 1=l 1,400
o&gs=s 90,000& = 59 450
O=229 15,000& = 59 75
O2otd gt 60,000& * 594 300
O& st 15,000& = 594 75
ogsts 100,000& * 5Y 500
oOxzgEs+d E2A Sl 3,600
O2z301a el 8,000& * 5% * 50! 2,000
O X ol CH =4 8,000& = 5% = 40¢ 1,600
A Hl 71,811 77,496 N5,685
=&l 71,811 77,496 N5,685
201 2ur2 Y| 41,115 41,270 A 155
01 AFR2t2l Yl 30,265 31,320 A 1,055
OJl2egR3 3| 500,000& * 26 * 90% 11,700
OJIEZHI(S2HI)
8,000 * 269 » 8 * 12& * 90% 17,972
oYxs 593
O8I edxta
52,000& » 1CH = 128 * 95% 593
02 =294l 10,850 9,950 900
osERE 10,850
Ot 350& =+ 10,000AH 3,500
O8I 2,450& = 3,000 7,350
202 04| 25,536 31,066 A5,530
01 2LH0HI 20,736 26,266 A5,530
©J| =&l
20,000 * 249 x 62 * 128 * 60% 20,736
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L= B

o
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SA - ZE-B(EA) - NRAY - B S il &t o il
02 M0 4,800 4,800
OUANZ=E X 200,000 = 2% = 12& 4,800
203 YR =2t 5,160 5,160
04 NI FAH 5,160 5,160
OPJE=E: 5,160
O30¢!l ol at 400,000& = 12& 4,800

O30¢! Ol & 5,000& = 6% » 12& 360
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20219 = =0la LBgH S99 HEAXNFW ~ EEF ASH
SN BER ASD
HE: ASHY AA G
©e: MRt HEHEY =X CEERED)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
sS4 A= 300,421 349,483 A 49,062
A=Y 24 213,408 259,667 A 46,259
gt A=EE =2 154,102 206,434 A 52,332
NYs ASHHS A8 2 145,588 197,960 Ab52,372
201 L2l 145,588 197,960 Ab52,372
01 At 22l 145,588 197,960 A52,372
OASHUY ALY 242 145,568
OAHEGIt HEZAH DAL ST EH
1,031,974& * 3802 * 5%+ 95% 18,628
OASS(BIIF) SEZALZALEAL 20
& 1,031,974 + 35024 * 25% » 95% 85,783
OAFAL HEZA DAL ST EH
1,031,974& * 33024 * 5%+ 95% 16,177
OArE&Q (A1) SEXIANZAL S A2
A 1,031,974 » 10224 » 25% * 95% 25,000
HHeE AId2 o™ S 7,027 6,987 40
201 2et24d] 7,027 6,987 40
01 At 2teltl 7,027 6,987 40
O3BAE= NEUE ABEZA =2
369,831& * 2F * 102 * 95% 7,027
AESUHE 2el 1,487 1,487 0
201 Let24E] 1,487 1,487 0
01 At 22l 1,487 1,487 0
OASSHY 238 TaH £
152,800& = 6IH = 95% 871
OH==SUE Z=SE UMEX
27,0003 * 249 A« 95% 616
sYEe NEEH=H 59,306 53,233 6,073
Z2E &l ¥ = 3,040 3,040 0
201 LB-2d| 3,040 3,040 0
01 At 2t 2l 3,040 3,040 0
oYy oz
8,000 = 4H = 100 = 95% 3,040
SHAEE ¥ SHBIE ANEHS 48,725 42,467 6,258
201 £B-2dH| 4,180 3,762 418
01 At 22l 4,180 3,762 418
oOsg&NE thsE M= 1,330
Oo=28s 90,0003 * 28 * 5 » 95% 855
Oogsts 100,000& * 5% = 95% 475
o=sgZinsE 28 g2 MA
200& = 10,00000 = 95% 1,900




SN B ASD
B ASHE AN
Sl ZEEe NTHS o E)
5 . 4
A - HE B9 (3A) - HRAY - BHYS Ol &+ o4 e
Oo=sAFES ADE AEIH MFH
200& = 5,00008 = 95% 950
206 M= Hl 4,545 520
01 =8l 4,545 520
OEYZILE BHIH=EE JIXM 4,545
OnNEYN ©AY H
4,000& = 2002 ¢ 800
Ost NLIEY HEFZ  1,000& » 300 dl 300
o= Jt< 7,000& = 1004 700
OLIH 20,000& = 1004 200
Oslx=2dHAHE () 175,000& * 504 875
O8x2AHAHE H(E) 50,000& = 5K 250
Ol HHE () 25,0002 * 1004 250
O 3,000& = 1004 300
O<dl 25,0002 * 404 100
OZEIAXMAH M 7,700& = 10004 770
307 21201 A 35,000 320
05 RIZt2IE = 35,000 320
OsgZNsE FL3H &9 35,000,000& 35,000
401 AIEHI L 20HEI 5,000 5,000
1T AIZHI 5,000 5,000
O=s8ZNE EXXRI AY 5,000,000& 5,000
SHLEEY Y A4S S 7,541 A 185
201 LBH2EH| 6,411 A 205
01 At 2t 2l 6,411 A 205
OLadEXS 22 EEMHIE
600& = 1,000& = 95% 570
OLHEXZ2 HIl+==2
54,0003 * 4m = 33| » 95% 616
OL-&HXS Mel&dl dXs (XAX)
450,000& * 100 = 2 = 95% 855
O=s8-d& =B =4 1,330
ogst= 100,000& = 53 = 95% 475
OZ2f= 90,000& = 2& * 5 * 95% 855
OHZEIM3I =BY SEHS =X S|
8,000& * 20H * 202 * 95% 3,040
206 T 2 bl 1,130 20
01 = 8l 1,130 20
O=2Y 84 -a4X8I= Edl JINMN 1,130
OHtd NSIE HEFZ 4,000 = 200Z dl 800
OflE (or2tsSgex) 35,000& * 34 105
ogdY dss 10,0002 * 54 50




2N
X ZH -
L= B

el

T Y olon
0% Jo

02 02 4
0 X

40 03 ry
A
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HE - B (3H) - KISAY - BYS il HImEET
OHI(SEA 1,000& * 1004 100
OEFRN(OFASExK) 15,000& * 54 75
HH2LAIH(EL TR HED) 87,013 89,816 A 2,803
ZHl 87,013 89,816 A 2,803
=&l 87,013 89,816 A2,803
201 Let2d] 37,693 37,246 447
01 At 22l 27,389 29,212 A1,823
OJleg =8| 500,000 = 24" = 90% 10,800
OJI=ZHl (=&l)
8,000 » 24F + 8 » 12& = 90% 16,589
02 =224l 10,304 8,034 2,270
oOfERI 9,240
Og et 3503 * 4508 « 123 1,890
OsJl 2,450 * 2508 * 12& 7,350
OHF AR EHl Rl 1,064
O&ER= A 5,500,000& = 2CH = 8% 880
O s 2,300,000& = 108 = 8% 184
202 (44l 45,120 47,770 A 2,650
01 SLHOIYI 18,720 18,970 A 250
OJIEZ 20,000& = 13 * 6& * 123 18,720
02 M0 26,400 28,800 A 2,400
OYANEE X 200,000& » 11 = 128 26,400
203 Q2 =AY 4,200 4,200 0
04 EA2IYRFLH| 4,200 4,200 0
O©J|&E2ZHI (25210l 5t) 350,000& = 12& 4,200




